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Mathematic I 

2.4 Matrix 

 

Example: -Find the matrix A+B   and A-B 

 

Solution// 
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Example:-Find the matrix A×B    

 

Solution// 

 

𝐴 × 𝐵 = [
3 −1 −3
8 0 −2

−1 3 7
] 

2.5 Determinates 

 

2. Special method is used only when matrix 3×3 
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Properties of Determinates 

1. If all elements of row or column are equal a zero→

𝑑𝑒𝑡𝑒𝑟𝑚𝑖𝑛𝑎𝑡𝑒 𝑣𝑎𝑙𝑢𝑒 = 0 

[
2 3 1
0 0 0
5 3 −2

] = [𝐷] = 0 

2. If similar elements a row two or column two →

𝒅𝒆𝒕𝒆𝒓𝒎𝒊𝒏𝒂𝒕𝒆 𝒗𝒂𝒍𝒖𝒆 = 𝟎  

 

[
−1 2 3
3 0 −2

−1 2 3
] = [𝐷] = 0  𝑜𝑟 [

1 2 1
2 3 2
4 2 4

] = [𝐷] = 0 

Example //Find the Determinate of [𝑨] 

A =[
𝟑 𝟏 𝟐
𝟒 𝟐 −𝟐
𝟐 −𝟏 𝟑

] 

Solution/ 
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[𝑨] = 𝟑 [
𝟐 −𝟐

−𝟏 𝟑
] − 𝟏 [

𝟒 −𝟐
𝟐 𝟑

] + 𝟐 [
𝟒 𝟐
𝟐 −𝟏

] 

= 𝟑[𝟔 − 𝟐] − 𝟏[𝟏𝟐 − (−𝟒)] + 𝟐[−𝟒 − 𝟒] = 𝟏𝟐 − 𝟏𝟔 − 𝟏𝟔

= −𝟐𝟎 

 

OR 

[
𝟑 𝟏 𝟐
𝟒 𝟐 −𝟐
𝟐 −𝟏 𝟑

]
3 1
4 2
2 −1

 

= 3 ∗ 2 ∗ 3 + 1 ∗ −2 ∗ 2 + 2 ∗ 4 ∗ (−1) − 2 ∗ 2 ∗ 2 − 3 ∗ (−2) ∗ (−1) − 1

∗ 4 ∗ 3 

=-20 

Exercise:[
𝟑 𝟏 𝟐
𝟒 𝟐 −𝑲
𝟐 −𝟏 𝟑

] = 𝟎.  𝑭𝒊𝒏𝒅 𝒗𝒂𝒍𝒖𝒆 𝑲 

2.6 Grammer Rule 

𝑥 =
𝐷𝑥

𝐷
.  𝑦 =

𝐷𝑦

𝐷
.   𝑧 =

𝐷𝑧

𝐷
 

 Example//Find 𝑥. 𝑦 𝑎𝑛𝑑 𝑧 from these 

equations by using Grammer Rule.                          

                 

𝑥+y+z=2  …….  1 
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3𝑥-y+2z=2  …..  2 

2𝑥-3y+3z=1  .…  3 

 

 

Solution // 

𝑫 = [
𝟏 𝟏 𝟏
𝟑 −𝟏 𝟐
𝟐 −𝟏 𝟑

]

= 𝟏 [
−𝟏 𝟐
−𝟑 𝟑

] − 𝟏 [
𝟑 𝟐
𝟐 𝟑

] + 𝟏 [
𝟑 −𝟏
𝟐 −𝟑

]

= 𝟑 − 𝟓 − 𝟕 = −𝟗 

𝑫𝒙 = [
𝟐 𝟏 𝟏
𝟐 −𝟏 𝟐
𝟏 −𝟏 𝟑

]

= 𝟐 [
−𝟏 𝟐
−𝟑 𝟑

] − 𝟏 [
𝟐 𝟐
𝟏 𝟑

] + 𝟏 [
𝟐 −𝟏
𝟏 −𝟑

]

= 𝟔 − 𝟒 − 𝟓 = −𝟑 

𝒙 =
𝑫𝒙

𝑫
=

−𝟑

−𝟗
=

𝟏

𝟑
 

𝑫𝒚 = [
𝟏 𝟐 𝟏
𝟑 𝟐 𝟐
𝟐 𝟏 𝟑

] = 𝟏 [
𝟐 𝟐
𝟏 𝟑

] − 𝟐 [
𝟑 𝟐
𝟐 𝟑

] + 𝟏 [
𝟑 𝟐
𝟐 𝟏

]

= 𝟒 − 𝟏𝟎 − 𝟏 = −𝟕 
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𝒚 =
𝑫𝒚

𝑫
=

−𝟕

−𝟗
=

𝟕

𝟗
 

𝑫𝒛 = [
𝟏 𝟏 𝟐
𝟑 −𝟏 𝟐
𝟐 −𝟑 𝟏

]

= 𝟏 [
−𝟏 𝟐
−𝟑 𝟏

] − 𝟏 [
𝟑 𝟐
𝟐 𝟏

] + 𝟐 [
𝟑 −𝟏
𝟐 −𝟑

]

= 𝟓 + 𝟏 − 𝟏𝟒 = −𝟖 

𝒛 =
𝑫𝒛

𝑫
=

−𝟖

−𝟗
=

𝟖

𝟗
 

Exercise: Find x,y and z from these equations by 

using Grammer Rule.                                               

                  

𝑥+y =1 …….  1 

y+z=1 …….  2 

   𝑥+y+z=1….  3 


